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If you visit a hospital, you will be surprised to find crowd of patients gathered around
the tabled of the doctors, suffering from all sorts of ailments and diseases. The hospital is a
place where people are treated for nursed through their illness and injuries. When a person is

admitted into a hospital as a patient for treatment he or she is said to the hospitalized.
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Everyone in this world wants to be happy. Irrespective of age, size and status from an

infant to a dying old man. Everyone’s goals seem to be to find happiness. To get this, man is

prepared to do anything. There is a continuous and unending search for happiness by everyone

at all time.
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The question paperis divided into four Scections:

Section: AL Reading comprehension L0 marks.
Section (B Writing: I Essay writing 10

1. Translation 04
Section: C. Applied Grammar. 12
Sccnon:D. Literature ~ 44
Seetion A, [10)marks.
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At home water is necessary for drinking, cooking food, washing, cleansing
and gardening. Animal too need water to drink and to wash them selves. In
agriculture water is needed for growing food items like rice, wheat,
vegetables, fruits, coffees, tea and sugarcane.

OR
Unlike any other natural resources water cannot be replaced by anything
else. To quench your thirst or to grow a plant, there is no replacement for
water. In other cases onc natural resource can replace any other but cannot
water.
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